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Topic:- General Knowledge and Logical Knowledge

1) Which of the following constructions in Madhya Pradesh has NOT won the Aga Khan Award for

éﬁ%ﬁgcture?/Wﬁ%hﬁﬂh%aﬁw@nﬁ@ﬁn%mmmwwﬂﬁ

1. Slum Networking, Indore / T¢TH ﬁea%rr, EE:R
2. Vallabh Bhawan, Bhopal / H Y-, HITTd

3. Vidhan Bhavan, Bhopal / faem HaH, oI )
4. Aranya Community Housing, Indore / 3RUJ Wﬁ?ﬂ BTSRRI , EE:IQ

Correct Answer :-

« Vallabh Bhawan, Bhopal / GCTH Ha, HIOTA

2) Which of the following countries does not share a border with India? / fFrafafea 'a'Qﬁ ek an k)
SN HRA &A1Y T A1 751 SRl 52

1. Myanmar / TR
2. Burma /am“

3. Nepal / aurd

4. Bhutan / YCIH

Correct Answer :-

. Burma/atlf

3) Which one of the following languages is not recognized in the Eighth Schedule to the Constitution of

India? / YR & TAFIU Y 3adl St & e & & o= T urem 1 ar=rar 7 ure g5
1. Urdu/G_ci

()



3. English / 3{USit
4. Nepali / Bl

Correct Answer :-

» English / ST

4) On29th June, 2017 India’s latest communication satellite, GSAT-17 was launched from which

country? / 29 S 2017 H URA & TATIH IR IUUE SIe-17 B for 31T yRw v i yre
1. Russia / Y
2. India / HRd

3. France /W
4. USA /guduy

Correct Answer :-

¢ France / mig

5) Panchayati Raj was recommended by / ATl XTST @t Wﬁ[ e & grRi ot TI'&‘: A
1. Balwantrai Mehta Committee / SIGaId fIE?IT ﬁé}f

2. Fazlali Commission / TFeTciell 3TART

3. Sarkaria Commission / TREBTNAT ST

4. Rajamannar Committee / XTSI[H~IX HHC]

Correct Answer :-

« Balwantrai Mehta Committee / SdcId ﬂ@?ﬂ HHC

6) Constitution of India was adopted by the Constituent Assembly on ./ HIRd BT ﬂ'ﬁ?ﬂ:f, BICOIE]
HHT & GRT D1 SUITIT T AT

1. 15™ August 1945/ 15 3K 1945
2. 1% January 1950 / 1 SR 1950
3. 26 January 1950 / 26 SIFART 1950

4. 26 November 1949 / 26 FdaR 1949

@)



o 26M November 1949 / 26 TdsR 1949

7) The Indian constitution declares Hindi in script to be the official language of the union. /

YR e iy & forfere &t o wiw oY IwruTen iR wran @ |
1. Nandinagari / BEEIRIN]

2. Devanagari / FCRIUN

3. Brahmi / STEH

4. Gurmukhi / W@

Correct Answer :-

» Devanagari / CaR

8) If PRIZES is coded QQJYFR, then how is WINNER coded? / Tf¢ PRIZES & QQJYFR J HIfSd
forar SITaT 8, 9 WINNER 3 39 Sifsd foear S

1. XHOMFQ
2. XHOMEQ
3. XHPMFQ

4, XHONFQ

Correct Answer :-

« XHOMFQ

9) Malwa Utsav 2017 was held in / HTGTdT 3o0d 2017 HET STAISIT §3IT UT?
1. Khandwa / 10Sd]
2. Khajuraho / @Gﬂlé[

3. Indore/%é <
4. Bhopal / T

Correct Answer :-

e Indore/ éélq

(4)



1Y 14’ dig] Yeh IR [dvidl 7

1. Baldev Singh Dhillon / @¢d g feea
2. Rajendra Singh Paroda / o g wiar
3. Sanjaya Rajaram / ol JSTRTH

4. Sir Fazle Hasan Abed / IR ol 89 3feg

Correct Answer :-

+ Sanjaya Rajaram / o JeIRTH

11) Who became the first Indian female para-athlete to win a medal in the 2016 Rio Paralympics? / 2016

& feaft Wi o uge Sita arell ggdlt WRda afger fesai (Gwai) East o1 52
1. Karamjyoti Dalal / HRESII Galdl

2. Pooja / oIl

3. Deepa Malik / 14T A

4. Mariyappan / ARIWH

Correct Answer :-

e Deepa Malik / aiur gfcre

12) Who is the Union Minister of Human Resource Development? / $% WHR | AT G919 fae

eI+

1. Radha Mohan Singh / Tl IﬁB?{ ﬁl_ﬁ'
2. Smriti Irani / F{ﬁf ETIT‘F[

3. Prakash Javadekar / UDIR] \‘rna@;m

4. Harsh Vardhan / E'Gf e

Correct Answer :-
o Prakash Javadekar / UPIR[ Gna@;m
13) Who was the first Muslim president of India? / HIRd & Ugd HITHIA ?Tngﬁ' P A7

1. Fakhruddin Ali Ahmed / TPEREE A 3Tl 3gHG
2. Zakir Hussain / SR @:f

(®)



4. APJ Abdul Kalam / TUIS! 3fegd Hald

Correct Answer :-

o Zakir Hussain / 9 IR an

14) Find the odd one out: / T fdWH T HITOTT:
1. Fear /HY

2. Feelings / HTdATY

3. Love /ﬁﬂ

4. Hatred / 9UIl

Correct Answer :-

« Feelings / HTaATd

15) In a certain class, students line up in a queue in which Ashish stands fifteenth from the left and Sachin
stands seventh from the right. If the two boys interchange their places, Sachin would be fifteenth from the
right. How many students are there in the queue? /({Tﬁﬁ'{lﬁ DEIT ff, ?ﬂiﬁﬁw FAR A EGT%QT
e 8, Forad em=fiv a7 ofik | Usgd I W ayT I a1g ok | I1ad RIF | 31 afe 9l asd
3T RIT BT TG-S Hd 8, al T 315 3R | Uggai sNl $arR § oo frd o 82

1.21
2.29

3.22

4. None of the above / SIRIGI H I qﬁé ﬂ-ﬁﬂ%‘T

Correct Answer :-

16) In a certain code language, col mein doka means very good boy; doka fisg kaa means boy and girl.
Which is the word for boy in that code language? / Th W HIS HIUT 'E[, col mein doka T 31 very good
boy; doka fisg kaa BT 3 boy and girl BT § 1 T HIS HIUT H boy F foTT fFH e &1 SAATA fhaT
TaTE?

1. doka
2. mein

3. col
(6)



Correct Answer :-

e doka

17) If 4t of a 30-day month falls on the Sunday, what will be the day on 20th /Tﬂ% 30 ﬁ:ﬁa'lﬁw ﬂ'&ﬂﬁ'
T 4¥1 377 TRIR ) ugar 2, 7 20% 37 = =1 R g

1. Tuesday / HITTAR
2. Monday / IR

3. Wednesday / §UARR

4. Thursday / [dIR

Correct Answer :-

+ Tuesday / HITAAR

18) What is the probability of getting a total of three heads in three tosses of a fair coin? / Uh ﬁ'&?{&f

Rred @1 fiF IR SBTe R $a &9 IR T 33) urw 811 @) Fr wilkiear g2
1.025
2.0.75
3.0.50

4.0.125

Correct Answer :-
e 0.125

19) Four numbers have been given of which all numbers except one share some common property and
hence are alike, while one is different. Choose the odd one out: / TR Wﬁq TI'Q'%, IGEEE: WWﬁ
Ny G $© TTHT O B IS HRA &, FATE U S § S Tep 3rerT 2 | 98 faww 3ma

"

i

1. 468
2.269
3. 246

4. 248

Correct Answer :-



20) Complete the series choosing the missing number: / GGl FSHT TABT YEell | T PIfoTC:
57,10,14,19, _

1. 26

2.25

3.24

4.23

Correct Answer :-

21) Complete the series choosing the missing number: / Yl IBAT DY FTAT DI GRT BITOTC:
7,9, 12, 16,

1. 19

2. 20

3.21

4.22

Correct Answer :-
e 21

22) Who was the President of the Indian National Congress when India won her

independence ? / ST YR P 30T STSITET felt, 79 WIRA ST SR & e DI U?
1. Sardar Patel / TR Ued
2. Acharya Kripalani / 3T HUa!

3. Rajendra Prasad / ISig UG

4. Jawaharlal Nehru / STaTgR dTd 8%

Correct Answer :-

« Acharya Kripalani / 3R 9t



age ot / dwl @ 1Y RIPIY lld 2013 P SAPHIR, P d=l] d§ Hldd & vl DI SHIY X dpH gl
1. 18 Years / 18 arsf
2. 16 Years / 16 99
3. 10 Years / 103&

4,12 Years /12 9%

Correct Answer :-

e 18 Years /18 aﬁf

24) Andaman and Nicobar islands is in the / 3SHM fA®ER Sluayg )
1. Bay of Bengal / STTdl &1 @rel

2. Indian Ocean / 8¢ AR

3. Arabian Sea / SRd IR

4, Pacific Ocean / URId HERIR

Correct Answer :-

« Bay of Bengal / Sdl &bt @l

25) State that was formed after it was separated from Madhya Pradesh is / I I MY, Y

T | T GIR 12
1. Uttarakhand / 3TRTEUS
2. Chhattisgarh / @T‘ﬁﬂ'ﬂ?{
3. Bihar / f9gR

4, Jharkhand / SIRYTS

Correct Answer :-

« Chhattisgarh / BTG

26) Very high grade Iron Ore is found in the districts of / 3= it &7 &g -3 A fora o
TTIT STl &

1. Morena and Rewa / Héﬁﬂ 3R

2. Durg and Bastar / @f 3R TR

©)



4. Ujjain and Kalumar / 3ouT g HIFHR

Correct Answer :-

e Durg and Bastar / @f IR TR

27) Who among the following is the first Indian sportsperson to reach the finals in the World
Badminton Championship (Women) in 2015? / fFrafafEa § 9 @19 99 ugedl R @ﬂ'ltcﬁ T
WY 2015 ¥ fay Ssfiie AulRFRM (@feen) F wsa« 9% uga T2

1. Jwala Gutta / SAIlT ST
2. Ashwini Ponnappa / ST i

3. Saina Nehwal / ISl ﬁ_ﬁ'_cﬂﬁ
4. P.V. Sindhu / Ut.dt Ry

Correct Answer :-

« Saina Nehwal / ITST “gdTd

28) The series given below contains a sequence of numbers. Identify the incorrect combination: GG iﬁ 11‘.=§
siEar H, TSIl BT U HH SUFRI § | TTerd TS Ugar-e:

25, 29, 36, 46, 58, 75

1.29

2.25

3.58

4.75

Correct Answer :-

* 58

29) In a certain code language, Red color chalk means 367, Yellow color flower means 691,
White color chalk means 356. Which is the number for White in that code language? / T®h
W HIS HTHT ﬁ, Red color chalk T 34 367: Yellow color flower®T 3 of 691; 4T White color
chalk &1 A 356 BT 81 SH BIs U White d fore {5 TweR o1 swawTa fohar ar 82

1.6

2.3

(10)



4.5

Correct Answer :-

.5

30) The terms ‘Secular’ and 'Socialist’ have been added to its Preamble by which
amendment to the Indian Constitution? / g FARUer ofi HTSIaTdl R’I‘é‘cffiﬁ, YR TGfau=
T TN HP 5 YT & Sicia SISl T 32

1. 44t / 449
2, 46t / 469
3. 404 ) 48

4. 45t 459

Correct Answer :-

o apnd ;459

31) Where are the Dilwara group of Jain temples located ? / ﬁﬂamﬂ'&%’a?a?ﬂﬁ?ﬁf
Rag?

1. Bhyj / oI
2. Vadodara / ag]ﬁ?l
3. Puri /@

4. Mount Abu / HISC 3T,

Correct Answer :-
« Mount Abu / HI3¢ 31§

32) Complete the series choosing the missing letters: / W &R 3f&RY DI AP m Ca) T

ABC, BDF, CFI,
1. DHK
2. DGJ

3. DGL

(11)



Correct Answer :-

« DHL

33) Complete the series choosing the missing number: / &I IWIT TAB YTAT Pt GRT HioIC:
15, 90, 540, 3240,

1. 18440

2. 16440

3. 19440

4. 17440

Correct Answer :-
e 19440

34) Which number would be in the tens place when 'Three thousand five hundred and six' is

reversed? / "d1F BYIR UTT |1 ©:' &1 SIehi¥d $I1 W 8IS & I W P Il JWAT M
1.6
2.0
3.5

4.3

Correct Answer :-

35) If MASTERis coded LZRSDQ, then, how is TELEPHONE coded? | Gf¢ MASTER & LZRSDQ
HIfSd foa1 AT 8, 9 TELEPHONE Y & HifSd foadr SR

1. PHONETELE
2. SDKDENOPH
3. SDKDOGNMD

4. SDOHPELET

Correct Answer :-

+ SDKDOGNMD
(12)



36) Select the option that is true about the Statements and Conclusions given:

Statements:
All screws are nails
All nails are bolts

Conclusions:
1. All screws are bolts
II. All bolts are screws

/ 39 fareq &1 Ig4 I Sife AT e Hy=) 3R fAepuf & IR § I8t 8:
YA

afi wp s

it el dtee &

e

Lafiwp e d

n. gt diee 5 €

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY 1 3R 1 gt fsHY 11 SITIRUI X &
2. both conclusion I and IT follows / FT5HY I 3R 11 GIFT S{TERUI HRdl &

3. only conclusion II follows / Had fSHY 11 3IER0T T §

4. only conclusion I follows / HId R I STERUI HRT §

Correct Answer :-

« only conclusion I follows / Fael FSHY T STTRUT T §

37) Select the option that is true about the Statements and Conclusions given:
Statements:

All cubes are cuboids

All cuboids are cylinders

Conclusions:

I. All cuboids are cubes

II1. All cylinders are cuboids

/ 39 ey &1 99+ P Sife 3T U $Y=T iR Frepyl & IR & 98 8:

DY:

(13)



it gy, Ricisy &

o

I 9t ey, o §

11 4t Ryeisy, oy 3

1. neither conclusion I nor conclusion II follows / ébf ﬁ'ﬁv_ﬁh GﬁT - Ep[ m IT SH{FIR0T GG %
2. both conclusion I and II follows / FT5BY I 3R 11 G SR GG %

3. only conclusion II follows / Had By 11 S{FIRUT hdl g

4. only conclusion I follows / Had Y 1 ST IRAT

Correct Answer :-

« neither conclusion I nor conclusion II follows / = B fSp I 3R =1 §1 FSHT 11 SFJARUT X ©

38) Select the option that is true about the Statements and Conclusions given:
Statements:

All dots are lines

All lines are triangles

Conclusions:

I. All dots are triangles

I1. All triangles are dots

/ 39 faweu &1 7 SR Sife Y g ST ok el & ar & 98 2:
Y

Tt g, Yame §

it Yy, By §

e

1. aft fig, Arys €

1L 9 frye, g €

1. only conclusion Il follows / BT EHY | TRV BT &

2. only conclusion | follows / Fad fSHY | 3TN HRT §

3. neither conclusion I nor conclusion Il follows / 7 &1 fTsY | 3R 7 8 Fepe 11 SRR v &
4. both conclusion 1 and Il follows / FTHH | 3R 11 ST SFTARTT B &

Correct Answer :-

« only conclusion | follows /Wﬁm | &WUTWT%



39) Select the option that is true about the Statements and Conclusions given:

Statements:
All labels are stickers
All papers are labels

Conclusions:
I. All papers are stickers
IIL. All stickers are labels

/ 39 fqweu &1 I8 B SifP fou T8 w1 o el & IR # I @
BY:

T+t dew, W §

Tt AR, A &

e

I 9 IR, WEH §

11. 9ot TR, d9a &

1. only conclusion Il follows / Bad fASHY 11 STV Rl §

2. only conclusion | follows / Fad fASHY | 3TN HRT §

3. neither conclusion | nor conclusion Il follows / 7 &1 S | 3R 7 81 FhY 11 SR Hd &
4. both conclusion 1 and Il follows / FBE | 3R 11 S 3FTERT B &

Correct Answer :-
« only conclusion | follows / ad Y | G‘ENTUTWT%

40) Read the following instructions carefully and answer question.

I. Six friends 1, 2, 3, 4, 5 and 6 are sitting in a closed circle facing the center.
IL. 5 is to the left of 4.

IIIL. 3 is between 1 and 2.

IV. 6 is between 5 and 1.

Who is to the left of 2? /

Frafafaa =N # aeuriyds ue 8k uy &1 3w 2|
.95 1,23,4,53R6 T dgquH $5 & @ IS 5
II. 4 & qTs 3R 5 §1

III. 1 3R 2F S 3 gl

IV.5 3R 1H 6 8l
(15)



1.5
2.3
3.4

4.1

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1) .
In the sequence shown below, which figure comes next? /==l [ I ®H #H, el
TR i T HREI?

i ~’_'_‘"~.\ % / ! t: \ . ,': “'k \
I.'l 3 |!: l[ -Iw ]" ]1 l.r’ .T \J
LI“- .‘"I I|"' 'f‘gJ\\x ,.'. JI ll"m /" {.l‘:"-.u‘ .'.."m
N N | b ) “‘.‘. “L )
: 1 11 .

1.

2.

3.

4,

Correct Answer :-
(16)



2)

If the following two squares shown below overlap, which one of the following opiions

is formed? / Afe f@Fa gF @er Ffdeafta gia § o &Fa & o &l @ v JAeeT aadr &7

— %
—

Ve 'ﬁlf

1.
2.

]

e e’

3.

by A

Ad

4,

Correct Answer :-

(17)



3)

In the below figure, suppose the length and the breadih of the rectangle is 5 cm and
10 c¢cm, respectively and M is a point along the cormer of the circle, what is the radius
of the circle? / Al =& ”IF #, AT &r oas AT diss AT 5 TAT JX 10 TAL &
3T M god &1 a5 g § St 373d & &el I S[sT G § ol geod & Frear g

,fﬁ'\.
/ \
!
‘\""\_ }II ;/
R

1. 50 cm / 50 THY,
2.20 cm /20 94T,
3.45cm/45 @Iﬁ

4,30 cm /30 9HI.

Correct Answer :-

« 50 cm /50 9T,
a) :
In the sequence shown below, which figure comes next? / @<l T3 IR & &, Hrel
HTHIT ieT T IR
# P z 1
P@ $ ZS # + # P @ P 7
Z + + @ @ S S &

1 134 11 L

(18)



T
® +

L
T NG

4,

Correct Answer :-

5) Find the average. / 3Nd Frerierd|
2,6,12,20,26 & 36

1.21

2.13

3.17

4. 19

(19)



6) Mahesh sells two cars at 1,75,000 Rs. each. He makes a profit of 15 % on one and a loss of 15 % on

the other. The overall loss or profit is: /ﬂ%ﬂﬁﬁaﬂ%ﬁﬁmﬁm 1,75,000 W%I 'Y
WY AT W W TS PR W 15% T ATH 3R GIR TR 15% B 8T 83 | $& a1 14T g1 &Y 71l
HRT:

1.2 % loss / 2 % BT+
2.0%
3.5 % profit/ 5 % <IH

4,225 % loss / 2.25 % BT

Correct Answer :-
o 2.25%loss/2.25 % SIIEI

7) If 3 numbers are in the ratio of 3 : 2 : 5, such that the sum of their squares is equal to 1862, what is the
middle number? / A& 9T TWATT 3 : 2 : 5% YT T S UPR & b ST A&ATSM F AT BT AT 1862
8| Al e B S T G

1. 34
2. 14
3.25

4. 30

Correct Answer :-

« 14

8) The product of 1014 and 986 is: / 1014 31T 986 WW@TIT:
1. 998804
2. 999804
3. 998814

4. 998904

Correct Answer :-
« 909804

(20)



9) A man sold two radios at Rs. 924 each. On the sale of one radio, he gains 20%, and on the other he
loses 20%. How much does he gain or lose in the whole transaction? / Tch GTIE'lﬂ ?ﬁ'm a?I?IT%,ﬁF'lﬁ
TS B DT 924 7. § 1 TH ISAT 1 fasht IR I 20% BT ATH 34T MR G- Bt fasht W= 20% Y
B 8% | SUP GRT TS [¥gUl g1+ a1 @Y foper=m ghm?

1.2 % loss /2 % BT
2. 3 % profit / 3 % <IH
3.4%loss/4%€Tﬁf

4.5 % profit/ 5 % <IH

Correct Answer :-
e 4%loss/4 % Ell?‘l

10) A man is 24 years older than his son. In two years his age will be twice the age of his son. The present
age of his son is? / T ST 3109 T I 24 79 TST 3 | AT &I T & ITDT 3T ISP YA DI 3T Pt
SR B STelt | SUd O @ adHe oMy R R?

1. 18 years / 18 T8
2. 20 years /20 CL
3. 14 years/ 14 CL

4. 22 years / 22 G

Correct Answer :-

e 22 years/22 CL

11) What is the sum of the first 20 terms of the series:

05+1.0+1.5+2.0+25+ /0 491 & UYH 20 UG] BT AT ENI: 0.5+1.542.042.5+ .
1.215

2. 105

3.210

4. 110

Correct Answer :-



minute-hand of a clock from 8:00 a.m. to 6:00 p.m., on a particular day? / Il 1dRIY I, YSI H YdIp

8 T | SIRTE 6 I IF & o1 10.5 AU B G qrelt g 3R 14 A #1 e arelt g3 gR1ag &t
T g &1 SfaR farermr givm?

1. 825 cm / 825 T,
2. 88 cm / 88 THI.
3.22 cm/ 22 9.

4.33 cm /33 9T,

Correct Answer :-

. 825cm/ 825 IHT,

13) If one litre of water is added to 4 litres of sugar solution containing 25 % sugar, the percentage of

sugar in the new solution will be: /ﬁ%@4?ﬂﬂﬁw,ﬁmﬁ?ﬂ=ﬁaﬁm 25% %,ﬁ"qﬁ'w
otex Ut 3R e fear s <t e faeasr & 6+ &) am g

1.30%
2.25%
3.20%

4.15%

Correct Answer :-

« 20%

14) Suresh said that, the total age of my three cousins including me is 50 and also eldest. All ages are

prime numbers. What are the cousin's ages? /Wﬁ'a‘l_ﬂﬁ? ‘H@Wﬁ%ﬁmaﬁw 50
T 31 i 3t €t Sm A arvrsa wemai A gt A I P @t 9u frar

1.11, 13,19
2.11, 13, 17
3.7,11, 13

4.5,11, 17

Correct Answer :-

(22)



years old, then what is the age of Rajesh? / RIGIRI @] SHIY RI1YYl P SH1Y Pl Gl G 1 RIYUI Pl Sy SHDP

Torar To=1 @ e fagTs 81 afe Th=r 36 9 &1 8 ol o= Bt 3y fpa-i girile
1. 24 years / 24 T
2. 36 years / 36 9
3. 48 years / 48 Y

4. 30 years / 30 ¥

Correct Answer :-

« 24 years/ 24 CL

16) If the length of the rectangle is increased by 10% and breadth of the rectangle is increased by 20%,
the area of the resulting rectangle increases by what percentage? / afe U Cd| aﬁn'é' B 10% 3R
SIS BT 20% FT &1 Y, Y TRUMHT 3RId &1 &57hd fhaa ufa=rd §¢ wiremm?

1.32%
2. 24%
3.36%

4. 30%

Correct Answer :-

« 32%

17) Tap A fills a tank in five hours, Tap B fills the same tank in fifteen hours, and Tap C empties the
tank in ten hours. When all the three taps are opened together, the tank will be filled up within: / ¢l A,

U &b P 5 S WRAT S | 7d B, I P &Y 15 ¢ F WRAT 81 3R 7 € GRT IV 10 1 & Wrelt H
foar s 1 afe i 9o vy ga &, @ I frai 3 A W

1.6hr/6Hc
2.10 hr/ 10 G
3.3hr/3°¢

4, 5hr/59c

Correct Answer :-

e 6hr/69c

(23)



leaves and the rest of the work is done by B in 3 days. How many days had A and B worked together” / A

it P 3 18 T A HR gpar g, B SH S BV 9 R*A A B A1 81 T QI THHTY IR B &
AP A FTH B T A § Bl a1 8, AT A ST B B A9 i A Rrzar g1 A IR BATY &
fpan foq & fam

1.4
2.6
3.5

4.3

Correct Answer :-

19) Samyak’s age after 4 years will be 6 times his age 6 years back. What is the present age of Samyak? /

AT 4 TUT H THIP B 3T IAD! 6 T4 Td B 3T BT 6 T &) A | TS BT T 31 7:
1. 10
2. 4
3.5

4. 8

Correct Answer :-

« 8

20) The average of the marks scored by the girls in a class is 73.2 and that of the marks scored by the
boys is 71.8. If the class average is 72.8, then, what is the ratio of the number of boys to that of number of

girls in the class? / fHt Hem A Tsfral iR ASH! GRT UTW 3] ST T FH: 73.2 3R 71.8 8,
ﬁﬁqggwmmmmsﬁwns%a‘m&nﬁm [ T SRl Y TWI BT Ut
far sivm?

1.3:4
2.5:2
3.4:3

4.2:5

Correct Answer :-



the average weight increases by 1 kg. What is the weight of the captain? / 12 IRACHIS YUl Dl YD CIH D]

3T UR 72 f5u. 81 oo &1 HR o 59H e 39 W Sid o= # 1 fhun &t 9e iR 8l S 81
HEM BT HR fFaa1 82

1. 72 kg / 72 T,
2. 85 kg / 85 I,
3. 84 kg / 84 T,

4. 73 kg /73 T,

Correct Answer :-

« 85kg /85T,

22) A bag contains 50 paise, 25 paise, and 10 paise coins in the ratio 5 : 9 : 4 amounting to Rs. 206. Find

the number of 25-paise coins. / U A T 50 TR, 25 U], 3R 10 T & Rgd 5:9: 4 F U A E1 25
T F Ryl &1 e g1 Rl

1. 540
2. 360
3. 400

4. 420

Correct Answer :-

» 360

23) A 20 litres acid solution is 90 % pure. How much acid is required to make it 95 % pure? / T 20

weR ety faerasT 1 Yl 90% B, T/ 95% Y& ST o fore fha=t 3net & Smazaerdr gRil?
1. 20 Litre / 20 Wi

2. 5 Litre / 5 &lex

3. 10 Litre / 10 &flex

4,22 Litre / 22 e

Correct Answer :-

e 20 Litre /20 (‘«ilaz

24) An electronic shop evolves a package bundling an i-Pad and a tablet for USD 59. If the i-Pads were
bought @ USD 39 and the profit on them was 30%, and the tablets were purchased for USD 11, what was

(25) - o )



cdcic Pl HIHICA =Y H 539 YUHSI H ddl Wil RGI G 1 SIS US Pl 39 YYISI Pl 6 H @RIl Yl &
IR 30% BT a1y Frerar 8 3R Tadicd 31 11 JUIS! F1 3 R TSI 14T 8, Saded W e ara
ATY T g4 arelt g1, fopait g2

1. 25.55% loss / 25.55% 6”?-[
2. 25.55% profit / 25.55% <Y
3.24.55% loss / 24.55% Bli?'l

4. 24.55% profit / 24.55% @TH

Correct Answer :-
o 24.55% loss / 24.55% Elial

25) Find the average of all prime numbers between 10 and 30? / 10 3R 30 & i ot Faft erursy

1.12
2. 18.66
3.20

4. 15

Correct Answer :-

- 18.66

26) Shalu's father was 38 years old when Shalu was born while her mother was 36 years when her
brother, four years younger to her, was born. What is the age difference between Shalu's parents? / RIT¢[

& O & THY I9F fUar $1 3mg 38 T Y, SIafe ITHT AT BT Mg 36 T oY ST IHBT TS T
B3 P T T 4 I8 BT 8 | T P ATI-FUar $Y 3y o7 3ieR fra-r 82

1.6 years/6a'5f
2.2 years/Z?ﬂSf
3.4years/4a'5f

4.5 years/5 Gl

Correct Answer :-

. 6years/6a'5f

(26)



km/h. Another person starts from B at 11:00 a.m. and walks towards A at S km/h. At what time will the

two meet? / A 3% B & T ®1 gt 40 frtlt 31 vor =l A | 10 991 Yaf A gemT = FRar g ik B
B 3R 4 fHil/a= &) T1e A T = HRAT 81 T 39 AfRT B I 11 99 Yai-g A o1 3iR 5 faedly
T 1 I7d A T IR Bl ¢ | o aua 3 i1 frae

1. 4:00 pm
2. 3:00 pm
3.2:00 pm

4. 3:30 pm

Correct Answer :-

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ra ﬁ'a ™

IR Ul § ¥ R 23 T 1d & St g9 o1 91 v T8 /2

Hackney Rights
L B Lewisham
1a Eros House

Catford SE6 4EG

(i) Hackney Rights
L B Lewisham
1a Eros House

Catford SE6 4EG

(ii) Hackney Rights
L B Lewisham
1a Eros House

Catford SE6 4EG

(iii) Hackney Rights

(27)



1a Eros House

Catfard SE6 4EG

(iv) Hackney Rights
L B Lewisham

1a Eros House
Catford SE6 4EG

1. iii

29) A man starts to walk towards sunset. He walks for 5 km and turns right. He walks for 3 km, then turns
left and walks for 3 km, and then again turns left and walks for 3 km. Finally, he turns left, walks for 6 km
and stops.

What is the distance between his starting and stopping points? /

TS TG Jaie o1 fomm # e yRY Far g1 5 fPariie? 9o & 91c 98 it iR gSar 81 98 3
freviie? Tarar 8, fihR 98 UH: a1$ 3R Yoo 3 fraiies aaar 81 3idd: 98 a1 gsdar g 3k 6
fraitier aaeR & JEaT gl

TP TA F URIHS {35 R sifow fig & dfta ot g&f feasi gifte
1.2 km /2 fHl.
2. 1 km /1 foait.
3.3 km /3 foil,
4.4 km/ 4 fHI.

Correct Answer :-

e 2km/2 fpHL

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect
combination: / <19 &Y 18 ga@r 7, 31&RY 3z Tw=meil @1 v HH fAfgd €1 wera Yo ug=nfae:

(28)



ii. mpopi921mpo

iii. mpopi921mpo
iv. mpopi921npo

1. iii

2. 1v

3.ii

4.1

Correct Answer :-

Topic:- Science and Simple Arithmetic

1) i
In the below figure, if £1 = 120°, 22 = JeFa ®F #, Aalg 21 =120°,dr 22 =
/2
/1

1 120°

2. 60°

3, 1140°

4, 90"

Correct Answer :-

. 60°
2) 2231 11 2x+1 11
Solution of —— = =1is: /== == W[ Gel b
x5 20 }{3::.'-:-5 0 B &
1.6
2.7

(29)



4. -5

Correct Answer :-

3)

4,

4)
The quotient when x2 — 7xv + 1242 is divided with (x — 3y ) is: /oI x2 — 7xy + 12v2 &I

{x — 3y ) ¥ feniea fmr st ar sterder &

+ 3y
YT

5 % + 4y

x — 4y
3. ¥

Z2x — 3y
4.

Correct Answer :-

x — 4y

(30)



5) simplify: (& + 4k +4) + (kK + 2y ) refiga sy, 7+ + 9+ (k+2)

k—4
1.

kE+4
2.

k+2
3,

4, k=2

Correct Answer :-

kE+2

6) Find the selling price, if cost price = Rs. 16000 and profit % = 9%. /afgsa Hed = 16000 T 3R
ATY % = 9%, Tl fasha g 91 H |

1. Rs. 17440 / 17440 3T
2. Rs. 15540 / 15540 Y
3. Rs. 10000 / 10000 3T

4. Rs. 16440 / 16440 ST

Correct Answer :-
o Rs. 17440 / 17440 3T

7) Area of rhombus is 120 sq cm. If one diagonal is 20 cm, then the other diagonal is: / mﬁﬁ Cal

&TFd 120 97 A § 1 T U fawmof 20 Aft B ot g fawpof 2
1. 12 cm / 12 99l
2. 10 cm / 10 I
3. 15 cm /15 At

4,14 cm / 14 3

Correct Answer :-

. 120m/12@1ﬂ

8) Solve: /Eﬁﬂﬂﬁ(’:

(31)



1. 16
2.12
3.32

4. 64

Correct Answer :-

9) In which type of quadrilaterals do the diagonals intersect each other at right angles? T'-I'Q'J;I'\_rf & foy

THR H fiel T g &) GHS U R e B4 82
1. Trapezium / JHIN
2. Parallelogram / JHIAR aﬂﬂ‘_’[

3. Kite / dIgC
4, None of these / sﬂﬁ@raﬁ% q_ﬁ.—.@[

Correct Answer :-

« Kite / PIgC

10) How many measures are required to draw a quadrilateral? / il_g,"gﬁ 3! fafa s & fore fosa
U1l Bt STaRah T o2

1.5
2.3
3.4

4.2

Correct Answer :-

11) The total surface area of cuboid of length 6 m and breadth 5 m is 126 sq m, then its height is: / 6

Hiex TS 3MR 5 Wiex ASTE a1 T 14 BT o YEHI §Ahd 126 T HIex 7, A SHBI $AT8 & :
1.4m/4HR
2.2m /2 HR

(32)



4, 5m /5 ¥R

Correct Answer :-

e 3m/3HIXR

12) The area of circle whose radius is 3 cm is: /3 @Iﬁﬁm a'laﬁib'[ {aﬁ'q’_d% :

4,187

Correct Answer :-

13) The scientific management of farm animals is called ' /q»ﬁrtmjsﬁ BT AFID e
FAraI gl

1. Pisciculture / 4T
2. Poultry farming /Tﬂ:lTITFT
3. Apiculture / AYHEIUTE

4. Animal husbandry / URJUTE

Correct Answer :-

¢ Animal husbandry / UR[UIc

14) Which is the highest level of organisation? / TG BT I&dH TﬂTTﬂT%‘?

1. Organism /Sha

2. Atoms / UXHIT]
3. Cells / PIRBTY
4. Biosphere / SIaHSd

Correct Answer :-

« Biosphere / SiaHsd
(33)



15) what will happen if like poles of two magnets are brought together? / TRIT g afe ?ﬁf{ﬁﬂﬁ & qHH ?;Fﬁ
DI TP ATY AT SY?

1. They repel each other. / 9 W—@ &I Ufawid Bl

2. They attract each other. /d W—@l\f DI SATHT B |

3. They sometimes attract and sometimes repel. /3 it ufded wet aut Haft s ftia S
4. They neither attract nor repel. /3T A BT B 3R 7§ ufdsifa B

Correct Answer :-

e They repel each other. / g W—@% DI UfdsNd B

16) state the name given to unicellular, eukaryotic micro-organisms. /Eﬁﬁﬁﬁﬁ'ﬂ) Wﬁﬁ ﬁ?ﬂ:ﬁﬁﬁ ca)
&g T A9 T4

1. Thallophyta / aFﬁEFI_EET
2. Protista /Eﬁﬁ'\?’[

3. Monera / HIFRT

4, Fungi / ddh

Correct Answer :-

* Protista /Em%ET

17) Cartilageis a connective tissue. /GTIT@IW WW%I
1. hard / B3R

2. liquid / dxeT

3. soft / BIHA

4, semi-fluid / Hﬁm

Correct Answer :-

o soft/HIAd

18) Which of the following can make you ill if you come in contact with an infected

person? / g A A T 3MUeh! NHR 9T HebdT © Al 3T Uh AhHd i b GUD § 3T 82
1. Influenza / HIE-SIT

(34)



3. Cancer/w

4, High blood pressure / 3 Yad ald

Correct Answer :-

¢ Influenza / SUIE~T

19) The main excretory product of human being is: / Wao‘rg@wvrﬁm %:
1. Ammonia / S{EI=T

2. Uric acid / gReb 311

3. Carbon dioxide / BT SR3HTFES

4. Urea /’CIﬁ'CIT

Correct Answer :-

« Urea/gRal

20) Deep Sea divers wear special suits to: / T8 9FR ¥ Mar@R gwfee faflkre ge ugd §:
1. Protect from high pressure of the sea /% & 3= G4 ¥ g & folw

2. Protect themselves from marine animals / %98 1 ?I'Elff EIECNRCCIECARIY

3. Protect the body from getting wet / TR &1 AT B I s & g

4. Maintain their body temperature / 30 YRR BT ATTHME §1E 79 o g

Correct Answer :-

« Protect from high pressure of the sea /% & 3 G4 ¥ §a & folT

21) The ICUN Red list helps in: / 3MEIYEA Y8 foRe 3TH Weg Fed! &:

1. Comprehensive list of migratory birds / Tar ulerl &t Aad ﬁiﬁ o

2. Geographical distribution of only human population / HId SHEEH T HINTor f[daRo & o
3. Conversion of fertile land into desert / 3USIIG H&[ H1IEE § S Ui o+ o

4. Assessing global conservation status of plant and animal species / UIqH 3R UxJ yoTfardl B faRgeaTd TRefor
R BT SfTeper B H

Correct Answer :-

(35)
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22) Magnetic effect of electric current was discovered by a scientist named: / ﬁgﬂﬂ W%WHW
DI ORI AT GRT WIS TR AT, ST AT AT:

1. Michael Faraday / HISWW

2. Johnson / NIGREH

3. Rutherford / X&XWIS

4. Hans Christian Oersted / & fofda oiids

Correct Answer :-

¢ Hans Christian Oersted /%7\‘:[ IEARpE] NKS

23) The process of dissolving base in water is: / ST¢T s | &R * faera =% ufssan %:
1. With no heat exchange / foFT o1 fafma & Ty

2. Endothermic /Wf-‘{h'lsﬁ

3. Exothermic /W?ﬁcﬁ
4. Explosive / a%mﬂw

Correct Answer :-

e Exothermic /W?}rﬁ

24) Recently at Chennai on 28" January 2017, two merchant ships collided near the Kamarajar port, and
there was a great destruction to the marine life. It was due to: /E'I?I'ﬁ' o aﬂ's: x| 28 SNt 2017 3| DTHROY
T & UTH & UTUR] SI8Tsl €T T, 3R AT Sia- P Srcafiie fO=m=r g3 | ST HIRUT YT:

1. Lead poisoning/mﬁw
2. Acid rain / 3% a8

3. Release of sewage from the city / R[gX @Tﬂ%ﬂﬂaﬁﬁgﬁﬁ
4. Oil spills / A& HTAATG

Correct Answer :-

. Oilspills/aﬁﬁ{fﬁ'@lﬁ



181 U WY T o1 QU TweHT G@dl § | 98 T 1 a1 Y: YUT IHT o HHT?
1. 30 days / 30 f&A
2. 31 days / 31 f&A
3.29 days / 29 f&

4. 23 days / 23 fa

Correct Answer :-

« 29 days /29 faA

26) Lactobacillus plays an important role in: / ﬁaﬁéﬁwwﬁﬁ@m Q{&Iﬂﬂﬁw %:

1. The curdling of milk / gﬂ%ﬂ%ﬁ@ﬂﬁﬁ

2. The manufacture of cake and bread / % d 81 M §

3. The manufacture of cheese / THIR &I H

4. The fermentation process in the manufacture of alcohol /W%Wﬁmm

Correct Answer :-

¢ The curdling of milk/§‘31@[3€f\_rﬂ:l'lefﬁ

27) In the four o’ clock plant ( Mirabilisjalapa ), when homozygous plant with red flowers
was crossed with homozygous white flowered plant, all the flowers in F1 were pink. When
the F1 plants with pink flowers were selfed, the phenotypic ratio obtained in F2 generation
was: / BR 3 FAI® Wie (FAviadigeayr) ¥, 54 aa Tal & TagHe NiY B The Tal &
UGS Ui & 1Y i foar mar df FL 8 9t oo qaret 31 919 F1 WS A pal & 91y 99 F2
Wt o v gHaevig SruTd ATl

1.2:1
2.1:1
3.3:1

4.1:2:1

Correct Answer :-

e 1:2:1

28) Compound interest on Rs. 5000 at 12% pa for 1 2 years, if the interest is compounded semi

annually is: / afe sare srefarfifer Taifra 8 ot s000 TUA WR 12% Ufdad R 1 1 9 & forw wepgfs
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1. Rs. 955 / 955 30T
2. Rs. 955.08 / 955.08 SUU
3. Rs. 944 / 944 ST

4. Rs. 950.08 / 950.08 ST

Correct Answer :-

« Rs. 955.08 / 955.08 SUY

29) Solve: / ‘s'aaﬂﬁrﬁr:

2744 -

1. 14
2.0.14
3.0.014

4.14

Correct Answer :-

30) Runs scored by 11 players of a cricket team during cricket match are as follows: 52, 63, 20, 0,

47, 81, 30, 40, 71, 3, 0. Then the average is: /WW@H%WWW%HWW
ﬁqﬁ—r@awﬂ?mw. 52, 63, 20, 0, 47, 81, 30, 40, 71, 3, 0 T AT & :

1.36.9
2.38
3.37.19

4. 37

Correct Answer :-

(38)



